

Banach limit and some new spaces of double sequences

Mohammad Mursaleen and Syed Abdul Mohiuddine

Abstract

In this paper, we define and study the Banach limit for double sequences and introduce some new spaces related to the concept of almost and strong almost convergence for double sequences. We characterize these spaces through some sublinear functionals and we also establish some inclusion relations.

Key words and phrases: Double sequences; P-convergence; Banach limit; sublinear functionals; almost convergence; strong almost convergence

1. Introduction

A double sequence $x = (x_{jk})$ is said to be *Pringsheim's convergent* (or *P-convergent*) if for given $\epsilon > 0$ there exists an integer N such that $|x_{jk} - \ell| < \epsilon$ whenever $j, k > N$. We shall write this as

$$\lim_{j,k \rightarrow \infty} x_{jk} = \ell,$$

where j and k tending to infinity independent of each other (cf [9]). We denote by c_2 , the space of *P*-convergent sequences.

A double sequence x is *bounded* if

$$\|x\| = \sup_{j,k \geq 0} |x_{jk}| < \infty.$$

We denote by ℓ_2^∞ the space of bounded double sequences. Note that, in contrast to the case for single sequences, a convergent double sequence need not be bounded. By c_2^∞ , we denote the space of double sequences which are boundedly convergent.

In this paper, we first define the concept of Banach limit for double sequences.

Definition 1.1 Let ℓ_2^∞ be the set of all real or complex double sequences $x = (x_{jk})$ with the norm $\|x\| = \sup_{j,k} |x_{jk}| < \infty$. A linear functional L on ℓ_2^∞ is said to be Banach limit if it has the following properties:

- (i) $L(x) \geq 0$ if $x \geq 0$ (i.e., $x_{jk} \geq 0$ for all j, k),

2000 AMS Mathematics Subject Classification: 46A45.
 Research of the first author was supported by the Department of Science and Technology, New Delhi, under Grant No. SR/S4/MS:505/07.

(ii) $L(E) = 1$, where $E = (e_{jk})$ with $e_{jk} = 1$ for all j, k , and

(iii) $L(S_{11}x) = L(x) = L(S_{10}x) = L(S_{01}x)$,

where the shift operators S_{01} , S_{10} and S_{11} are defined by

$$S_{01}x = (x_{j,k+1}), S_{10}x = (x_{j+1,k}), S_{11}x = (x_{j+1,k+1}).$$

Let \mathcal{B}_2 be the set of all Banach limits on ℓ_2^∞ . A double sequence $x = (x_{jk})$ is said to be almost convergent to a number ℓ if $L(x) = \ell$ for all $L \in \mathcal{B}_2$.

The idea of almost convergence for single sequences was introduced by Lorentz [3] and for double sequences by Moricz-Rhoades [5] and further studied in [6]–[8].

The space f_2 of almost convergent double sequences was defined by Moricz and Rhoades [5] as

$$f_2 = \{x = (x_{jk}) \mid \lim_{p,q \rightarrow \infty} |\tau_{pqst}(x) - \ell| = 0, \text{ uniformly in } s, t\},$$

where

$$\tau_{pqst}(x) = \frac{1}{(p+1)(q+1)} \sum_{j=0}^p \sum_{k=0}^q x_{j+s,k+t}.$$

Note that a convergent double sequence need not be almost convergent. However, every bounded convergent double sequence is almost convergent and every almost convergent double sequence is also bounded, i.e. $c_2^\infty \subset f_2 \subset \ell_2^\infty$ and each inclusion is proper.

The idea of strong almost convergence for single sequences is due to Maddox [4] and for double sequences by Başarir [1].

A double sequence $x = (x_{jk})$ is said to be strongly almost convergent to a number ℓ if

$$\lim_{p,q \rightarrow \infty} \frac{1}{(p+1)(q+1)} \sum_{j=0}^p \sum_{k=0}^q |x_{j+s,k+t} - \ell| = 0,$$

uniformly in s, t . By $[f_2]$, we denote the space of all strongly almost convergent double sequences. Note that $[f_2] \subset f_2 \subset \ell_2^\infty$ and each inclusion is proper.

2. Some new spaces of double sequences

In this section, we introduce the following sequence spaces, while such spaces for single sequences were studied by Das and Sahoo [2].

$$w_2 = \left\{ x = (x_{jk}) : \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(x - \ell E) \longrightarrow 0 \text{ as } m, n \longrightarrow \infty, \right. \\ \left. \text{uniformly in } s, t, \text{ for some } \ell \right\},$$

$$[w_2] = \left\{ x = (x_{jk}) : \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n |\tau_{pqst}(x - \ell E)| \longrightarrow 0 \text{ as } m, n \longrightarrow \infty, \right. \\ \left. \text{uniformly in } s, t, \text{ for some } \ell \right\}$$

$$[w]_2 = \left\{ x = (x_{jk}) : \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(|x - \ell E|) \longrightarrow 0 \text{ as } m, n \longrightarrow \infty, \right. \\ \left. \text{uniformly in } s, t, \text{ for some } \ell \right\}$$

By $(C_2, 2)$, we denote the space of *Cesàro summable* double sequences of order 2 defined by

$$(C_2, 2) = \left\{ x = (x_{jk}) : \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{p,q,0,0}(x) \longrightarrow \ell \text{ as } m, n \longrightarrow \infty \right\}$$

and by $[C_2, 2]$, we denote the space of *strongly Cesàro summable* double sequences of order 2 defined by

$$[C_2, 2] = \left\{ x = (x_{jk}) : \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n |\tau_{p,q,0,0}(x) - \ell| \longrightarrow 0 \text{ as } m, n \longrightarrow \infty \right\}.$$

Remark 2.1 If $[w_2]$ - $\lim x = \ell$, that is

$$\frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n |\tau_{pqst} - \ell| \longrightarrow 0$$

as $m, n \longrightarrow \infty$, uniformly in s, t ; then

$$\frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \left| \frac{1}{p+1} \sum_{j=0}^p \tau_{jqst} - \ell \right| \longrightarrow 0$$

and

$$\frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \left| \frac{1}{q+1} \sum_{k=0}^q \tau_{pkst} - \ell \right| \longrightarrow 0.$$

3. Some sublinear functionals

Let G be any sublinear functional on ℓ_2^∞ . We write $\{\ell_2^\infty, G\}$ to denote the set of all linear functionals F on ℓ_2^∞ such that $F \leq G$, i.e., $F(x) \leq G(x)$ for all $x = (x_{jk}) \in \ell_2^\infty$.

Now we define the following functionals on the space ℓ_2^∞ of real bounded double sequences:

$$\phi(x) = \limsup_{m,n} \sup_{s,t} \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(x),$$

$$\psi(x) = \limsup_{m,n} \sup_{s,t} \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n |\tau_{pqst}(x)|,$$

$$\theta(x) = \limsup_{m,n} \sup_{s,t} \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(|x|),$$

$$\xi(x) = \limsup_{p,q} \sup_{s,t} \tau_{pqst}(x),$$

$$\eta(x) = \limsup_{p,q} \sup_{s,t} \tau_{pqst}(|x|),$$

where $|x| = (|x_{jk}|)_{j,k=1}^{\infty}$.

It can be easily verified that each of the above functionals are finite, well defined and sublinear on ℓ_2^{∞} .

A sublinear functional G is said to *generate* Banach limits if $F \in \{\ell_2^{\infty}, G\}$ is a Banach limit and it is said to *dominate* Banach limits if $F \in \mathcal{B}_2$ implies $F \in \{\ell_2^{\infty}, G\}$.

In the following theorem we characterize the space $\ell_2^{\infty} \cap w_2$ in terms of the sublinear functional ϕ .

Theorem 3.1 *We have the following:*

(i) *The sublinear functional ϕ both dominates and generates Banach limits, i.e. $\phi(x) = \xi(x)$, for all $x = (x_{jk}) \in \ell_2^{\infty}$.*

(ii) $\ell_2^{\infty} \cap w_2 = \{x = (x_{jk}) \in \ell_2^{\infty} : \phi(x) = -\phi(-x)\} = f_2$.

Proof. (i) From definition of ξ , for given $\epsilon > 0$ there exist p_0, q_0 such that

$$\tau_{pqst}(x) < \xi(x) + \epsilon$$

for $p > p_0, q > q_0$ and for all s, t . This implies that

$$\phi(x) \leq \xi(x) + \epsilon$$

for all $x = (x_{jk}) \in \ell_2^{\infty}$. Since ϵ is arbitrary, so that $\phi(x) \leq \xi(x)$, for all $x = (x_{jk}) \in \ell_2^{\infty}$ and hence

$$\{\ell_2^{\infty}, \phi\} \subset \{\ell_2^{\infty}, \xi\} = \mathcal{B}_2, \tag{3.1.1}$$

i.e., ϕ generates Banach limits.

Conversely, suppose that $L \in \mathcal{B}_2$. As L is the shift invariant i.e., $L(S_{11}x) = L(x) = L(S_{10}x) = L(S_{01}x)$, we have

$$\begin{aligned} L(x) &= L\left(\frac{1}{(p+1)(q+1)} \sum_{j=0}^p \sum_{k=0}^q x_{j+s, k+t}\right) \\ &= L\left(\tau_{pqst}(x)\right) \\ &= L\left(\frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(x)\right). \end{aligned} \tag{3.1.2}$$

But it follows from the definition of ϕ , that for given $\epsilon > 0$ there exist m_0, n_0 , such that

$$\frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(x) < \phi(x) + \epsilon \tag{3.1.3}$$

for $m > m_0, n > n_0$ and for all s, t . Hence, by (3.1.3) and properties (i) and (ii) of Banach limits, we have

$$L\left(\frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(x)\right) < L\left((\phi(x) + \epsilon)E\right) = \phi(x) + \epsilon, \tag{3.1.4}$$

for $m > m_0, n > n_0$ and for all s, t , where E is defined in the beginning of Section 2. Since ϵ was arbitrary, it follows from (3.1.2) and (3.1.4) that

$$L(x) \leq \phi(x), \text{ for all } x = (x_{jk}) \in \ell_2^\infty.$$

Hence

$$\mathcal{B}_2 \subset \{\ell_2^\infty, \phi\}. \tag{3.1.5}$$

That is, ϕ dominates Banach limits.

Combining (3.1.1) and (3.1.5), we get

$$\{\ell_2^\infty, \xi\} = \{\ell_2^\infty, \phi\},$$

this implies that ϕ dominates and generates Banach limits and $\phi(x) = \xi(x)$ for all $x \in \ell_2^\infty$.

(ii) As a consequence of Hahn-Banach theorem, $\{\ell_2^\infty, \phi\}$ is nonempty and a linear functional $F \in \{\ell_2^\infty, \phi\}$ is not necessarily uniquely defined at any particular value of x . This is evident in the manner the linear functionals are constructed. But in order that all the functionals $\{\ell_2^\infty, \phi\}$ coincide at $x = (x_{jk})$ it is necessary and sufficient that

$$\phi(x) = -\phi(-x); \tag{3.1.6}$$

we have

$$\limsup_{m,n} \sup_{s,t} \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(x) = \liminf_{m,n} \sup_{s,t} \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(x). \tag{3.1.7}$$

But (3.1.7) holds if and only if

$$\frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(x) \longrightarrow \ell \text{ (say) as } m, n \longrightarrow \infty,$$

uniformly in s, t . Hence, $x = (x_{jk}) \in w_2 \cap \ell_2^\infty$. But (3.1.6) is equivalent to

$$\xi(x) = -\xi(-x),$$

this holds if and only if $x = (x_{jk}) \in f_2$

This completes the proof of the theorem. □

In the following theorem we characterize the spaces $[w_2] \cap \ell_2^\infty$ and $[w]_2 \cap \ell_2^\infty$ in terms of the sublinear functionals.

Theorem 3.2 *We have the following:*

(i) $[w_2] \cap \ell_2^\infty = \{x = (x_{jk}) : \psi(x - \ell E) = 0, \text{ for some } \ell\} = \{x = (x_{jk}) : F(x - \ell E) = 0, \text{ for all } F \in \{\ell_2^\infty, \psi\}, \text{ for some } \ell\}$.

(ii) $[w]_2 \cap \ell_2^\infty = \{x = (x_{jk}) : \theta(x - \ell E) = 0, \text{ for some } \ell\} = \{x = (x_{jk}) : F(x - \ell E) = 0, \text{ for all } F \in \{\ell_2^\infty, \theta\}, \text{ for some } \ell\}$.

Proof. (i) It can be easily verified that $x = (x_{jk}) \in [w_2] \cap \ell_2^\infty$ if and only if

$$\psi(x - \ell E) = -\psi(\ell E - x). \quad (3.2.1)$$

since $\psi(x) = \psi(-x)$ then (3.2.1) reduces to

$$\psi(x - \ell E) = 0. \quad (3.2.2)$$

Now, if $F \in \{\ell_2^\infty, \psi\}$ then from (3.2.2) and linearity of F , we have

$$F(x - \ell E) = 0.$$

Conversely, suppose that $F(x - \ell E) = 0$ for all $F \in \{\ell_2^\infty, \psi\}$ and hence by Hahn-Banach theorem, there exists $F_0 \in \{\ell_2^\infty, \psi\}$ such that $F_0(x) = \psi(x)$. Hence

$$0 = F_0(x - \ell E) = \psi(x - \ell E).$$

(ii) The proof is similar as above. □

4. Inclusion relations

We establish here some inclusion relations between the spaces defined in Section 2.

Theorem 4.1 *We have the following proper inclusions and the limit is preserved in each case:*

$$[f_2] \subset [w]_2 \subset [w_2] \subset w_2 \subset (C_2, 2).$$

Proof. Let $x \in [f_2]$ with $[f_2]$ -lim $x = \ell$, say. Then

$$\tau_{pqst}(|x - \ell E|) \longrightarrow 0 \text{ as } p, q \longrightarrow \infty, \text{ uniformly in } s, t.$$

This implies that

$$\frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(|x - \ell E|) \longrightarrow 0 \text{ as } p, q \longrightarrow \infty, \text{ uniformly in } s, t.$$

This proves that $x \in [w]_2$ and $[f_2]$ -lim $x = [w]_2$ -lim $x = \ell$.

Since

$$\frac{1}{(m+1)(n+1)} \left| \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(x - \ell E) \right| \leq \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n |\tau_{pqst}(x - \ell E)|$$

$$\leq \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(|x - \ell E|)$$

this implies that $[w]_2 \subset [w_2] \subset w_2$ and

$$[w]_2\text{-}\lim x = [w_2]\text{-}\lim x = w_2\text{-}\lim x = \ell.$$

Since

$$\frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(x - \ell E)$$

converges uniformly in s, t as $m, n \rightarrow \infty$ implies the convergence for $s = 0 = t$. It follows that $w_2 \subset (C_2, 2)$ and $w_2\text{-}\lim x = (C_2, 2)\text{-}\lim x = \ell$.

This completes the proof of the theorem. □

Theorem 4.2 *We have the following proper inclusions*

$$[f_2] \subset [w]_2 \cap \ell_2^\infty \subset [w_2] \cap \ell_2^\infty \subset f_2.$$

Proof. If $x = (x_{jk})$ then

$$\phi(x) \leq \psi(x) \leq \theta(x) \leq \eta(x).$$

By sublinearity properties of these functionals, for $x = (x_{jk}) \in \ell_2^\infty$, we have

$$-\eta(-x) \leq -\theta(-x) \leq -\psi(-x) \leq -\phi(-x) \leq \phi(x) \leq \psi(x) \leq \theta(x) \leq \eta(x).$$

Hence

$$\begin{aligned} \eta(x) &= -\eta(-x) \\ \implies \theta(x) &= -\theta(-x) \\ \implies \psi(x) &= -\psi(-x) \\ \implies \phi(x) &= -\phi(-x). \end{aligned} \tag{4.2.1}$$

It is easy to see that

$$\{x = (x_{jk}) \in \ell_2^\infty : \eta(x) = -\eta(-x)\} = [f_2].$$

we have already proved in Theorem 3.2 that

$$\begin{aligned} \{x = (x_{jk}) \in \ell_2^\infty : \theta(x) = -\theta(-x)\} &= \{x = (x_{jk}) : \theta(x - \ell E) = 0\} = [w]_2 \cap \ell_2^\infty \\ \{x = (x_{jk}) \in \ell_2^\infty : \psi(x) = -\psi(-x)\} &= \{x = (x_{jk}) : \psi(x - \ell E) = 0\} = [w_2] \cap \ell_2^\infty. \end{aligned}$$

Also from Theorem 3.1 we have

$$\{x = (x_{jk}) \in \ell_2^\infty : \phi(x) = -\phi(-x)\} = w_2 \cap \ell_2^\infty = f_2.$$

Hence the result follows from (3.2.1). □

Example 4.3 $[w]_2 \cap l_\infty \subsetneq [w_2] \cap l_\infty$ (or $[w]_2 \subsetneq [w_2]$).

Let $x = (x_{jk})$ be defined by

$$x_{jk} = (-1)^k \text{ for all } j,$$

that is

$$\begin{pmatrix} -1 & 1 & -1 & 1 & \cdot & \cdot & \cdot \\ -1 & 1 & -1 & 1 & \cdot & \cdot & \cdot \\ -1 & 1 & -1 & 1 & \cdot & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \end{pmatrix}$$

$$\begin{aligned} |\tau_{pqst}(x - o)| &= \left| \frac{1}{(p+1)(q+1)} \sum_{j=0}^p \sum_{k=0}^q x_{j+s, k+t} \right| \\ &\leq \frac{q+1}{(p+1)(q+1)} = \frac{1}{p+1} \quad \text{uniformly for } s, t \end{aligned}$$

Hence

$$\begin{aligned} \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n |\tau_{pqst}(x - o)| &\leq \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \frac{1}{p+1} \\ &= \frac{1}{(n+1)(m+1)} \sum_{p=0}^m \frac{n+1}{p+1} \\ &= \frac{1}{(m+1)} \sum_{p=0}^m \frac{1}{p+1} \quad \rightarrow 0 \quad \text{as } m \rightarrow \infty, \end{aligned}$$

i.e. $x = (x_{jk}) \in [w_2] \cap l_\infty$ and hence by Theorem 4.2, $x \in f_2$. But $x \notin [w]_2 \cap l_\infty$ and hence $x \notin [f_2]$.

Theorem 4.4 $[w_2]$ - $\lim x = \ell$ if and only if

- (i) w_2 - $\lim x = \ell$;
- (ii) $\frac{1}{uv} \sum_{m=1}^u \sum_{n=1}^v |T_1(m, n, s, t) - \ell| \rightarrow 0$ ($u, v \rightarrow \infty$) uniformly in s, t ;
- (iii) $\frac{1}{uv} \sum_{m=1}^u \sum_{n=1}^v |T_2(m, n, s, t) - \ell| \rightarrow 0$ ($u, v \rightarrow \infty$) uniformly in s, t ;
- (iv) $\frac{1}{uv} \sum_{m=1}^u \sum_{n=1}^v |\tau_{mnst} + d_{mnst} - T_1(m, n, s, t) - T_2(m, n, s, t)| \rightarrow 0$ ($u, v \rightarrow \infty$) uniformly in s, t ;

where

$$d_{m,n,s,t} = d_{m,n,s,t}(x) = \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n \tau_{pqst}(x),$$

$$d_{0,0,s,t}(x) = \tau_{0,0,s,t} = x_{s,t}, \quad d_{-1,0,s,t}(x) = \tau_{-1,0,s,t}(x) = x_{s-1,t},$$

$$d_{0,-1,s,t}(x) = \tau_{0,-1,s,t}(x) = x_{s,t-1}, \quad d_{-1,-1,s,t}(x) = \tau_{-1,-1,s,t}(x) = x_{s-1,t-1},$$

$$T_1(m, n, s, t) = \frac{1}{(m+1)} \sum_{p=0}^m \tau_{pnst} \quad \text{and} \quad T_2(m, n, s, t) = \frac{1}{(n+1)} \sum_{q=0}^n \tau_{mqst}.$$

Proof. Let $[w_2]$ - $\lim x = \ell$. Then obviously w_2 - $\lim x = \ell$. From Remark 2.1, (ii) and (iii) follow immediately. Now

$$\begin{aligned} & \frac{1}{uv} \sum_{m=1}^u \sum_{n=1}^v |\tau_{mnst} + d_{mnst} - T_1(m, n, s, t) - T_2(m, n, s, t)| \\ &= \frac{1}{uv} \sum_{m=1}^u \sum_{n=1}^v |\tau_{mnst} - \ell + d_{mnst} - \ell - T_1(m, n, s, t) + \ell - T_2(m, n, s, t) + \ell| \\ &\leq \frac{1}{uv} \sum_{m=1}^u \sum_{n=1}^v (|\tau_{mnst} - \ell| + |d_{mnst} - \ell| + |T_1(m, n, s, t) - \ell| + |T_2(m, n, s, t) - \ell|) \end{aligned}$$

$\rightarrow 0$ as $u, v \rightarrow \infty$, uniformly in s, t ; since

- (a) $[w_2]$ - $\lim x = \ell$ implies that the first sum tends to zero;
- (b) (ii) and (iii) imply that third and fourth sums tend to zero;
- (c) (i) implies that $d_{mnst} \rightarrow \ell$ ($m, n \rightarrow \infty$) uniformly in s, t ; and so the second sum tends to zero.

Conversely, suppose that the conditions hold. Now

$$\begin{aligned} & \frac{1}{uv} \sum_{m=1}^u \sum_{n=1}^v |\tau_{mnst} - \ell| \\ &\leq \frac{1}{uv} \sum_{m=1}^u \sum_{n=1}^v |\tau_{mnst} + d_{mnst} - T_1(m, n, s, t) - T_2(m, n, s, t)| + \frac{1}{uv} \sum_{m=1}^u \sum_{n=1}^v |d_{mnst} - \ell| \\ &\quad + \frac{1}{uv} \sum_{m=1}^u \sum_{n=1}^v |T_1(m, n, s, t) - \ell| + \frac{1}{uv} \sum_{m=1}^u \sum_{n=1}^v |T_2(m, n, s, t) - \ell| \end{aligned}$$

$\rightarrow 0$ as $u, v \rightarrow \infty$, uniformly in s, t .

This completes the proof of the theorem. □

Acknowledgment

The authors are very thankful to the referee for constructive comments and to Dr. Osama H. H. Edely who provided us the above Example.

References

- [1] Başarir, M.: On the strong almost convergence of double sequences. *Periodica Math. Hung.* 30, 177–181 (1995).
- [2] Das, G. and Sahoo, S.K.: On some sequence spaces. *J. Math. Anal. Appl.* 164, 381–398 (1992).
- [3] Lorentz, G. G.: A contribution to theory of divergent sequences. *Acta Math.* 80, 167–190 (1948).
- [4] Maddox, I. J.: A new type of convergence. *Math. Proc. Camb. Phil. Soc.* 83, 61–64 (1978).
- [5] Moricz, F. and Rhoades, B. E.: Almost convergence of double sequences and strong regularity of summability matrices. *Math. Proc. Camb. Phil. Soc.* 104, 283–294 (1988).
- [6] Mursaleen, M. and Edely, O. H. H.: Almost convergence and a core theorem for double sequences, *J. Math. Anal. Appl.* 293, 532–540 (2004).
- [7] Mursaleen, M. and Savaş, E.: Almost regular matrices for double sequences. *Studia Sci. Math. Hung.* 40, 205–212 (2003).
- [8] Mursaleen, M.: Almost strongly regular matrices and a core theorem for double sequences. *J. Math. Anal. Appl.* 293, 523–531 (2004).
- [9] Pringsheim, A.: Zur theorie der zweifach unendlichen Zahlenfolgen. *Math. Z.* 53, 289–321 (1900).

Mohammad MURSALEEN
Department of Mathematics,
Aligarh Muslim University
Aligarh, 202002, INDIA
e-mail: mursaleenm@gmail.com

Received: 29.08.2009

Syed Abdul MOHIUDDINE
Department of Mathematics,
Faculty of Science, Jazan University,
Jazan, 2097, SAUDI ARABIA
e-mail: mohiuddine@gmail.com